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1.1 Integers INFINITY

0.0

Number sets:
-a set of numbers that share certain characteristics

-written in set notation, curly brackets { }, with
commas between the numbers

-when sets are infinite we show the pattern and use
"..." to show that the pattern continues

Ex. 1 Identify whether the sets are finite or infinte:

Infinite sets have

ru

a) {1234} inte

b) {1,2,3,4,..} \nlinte

o fuif e

d)  {..321 \

e) {1,2,3,58,13,21} F. 1l
) {1,4916,.} |\

an undefined number of

members...there is no limit

to the number of members

Finite sets have

a defined, specific number

of members in the set
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Number Sets in Mathematics

-some commonly used sets of numbers in math are given specific
labels (capital letters) to make it easier to refer to

Ex. 2 Match each symbol to the description of the set (which one do
you think goes with each?).

Z N W

the set of Integers

these include counting numbers
and zero but also include the
concept of a "negative"

02,-1,0,1,2,3,...
{\ }

the set of Natural numbers

these are the numbers we
first used to count with

1,2,3,4,5,.}

\— _/

the set of Whole numbers

these are counting
numbers but also include
the concept of a "0"

{0,1,2,3,4,...}
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Operations with Integers

Imagine that you have a cauldron (pot) of liquid.

You can add red squares to the pot which will increase the
temperature. (temperature goes up...hotter)

You can add blue squares to the pot which will decrease the
temperature. (temperature goes down...colder)

/What happens when you add\

4 red squares (positive)?

()

O

’

o

—
=

Cdo U A dih o =S =Wk Ul ® O

=

/ What happens when you\

subtract 8 red squares
(positive)?

~ ((+8)
= °

ADD
to the pot

SUBTRACT

from the pot

(take squares

out)

/What happens when you ad(ﬁ

5 blue squares (negative)?

—

& (5)
=5

_/

/What happens when you \

subtract 3 blue squares
(negative)?

)
+2

nil

N— _/
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Conclusions...

e Adding a negative is the same as subtracting
e Subtracting a negative is the same as adding

Ex.3 a) 4+(-5) b) 4-(-5) Y
=4-> =44+
= \ - O‘
Same 9a = POS’A*“Q D# s",jns => r\)eja‘#ve
If there dre TW® SIGNS beside edch other...
then SIMPLIFY
Ex. 4 . _
a) (-2) +(-3) b) 5¢(57)
= —2 — % - S—‘ ?
--3 =-2
i +
92 d) (-3)=04)
a3 S
= T34y
= |
-+ +
e)4-7¢(1) fEE3) - 1
= I\_-LT,E/-\\ ;\%@
= —-% '\'\ — 3 _ |
==

NQ'LC : CON\MUﬁ\Cé\\\;\OfW @

~ Must have P7ua\ Si9n g
- Qfk,/().\C)x ~—g

- ﬁf\wqgs Lingl answrf
e (D) => 2
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o

@)

Multiplication of Integers

/add 3 groups of 2 red squares\

Somme X
= Ve

o
+3 (+2)

- 4

’

LdoUdh bbb S —=0whnaawos

=

/

subtract 4 groups of 3 red squares

m \ :.> \\\,€

/add 5 groups of 3 blue squares\

/

subtract 5 groups of 4 blue squares

CLSame
_ 5(_4) = 4+
= 20

N _/
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[Conclusionsj

() () (D) ()
= & =+ = I

When multiplying or dgdin integers
® same signs give a OSmve answer
e different signs give a N{j&*‘“f answer
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Ex. 5 Evaluate.

a) (2)(-6) b) -(-4) c) (-24)+(-8)
z = \1 — HH @ -
- Y
-36 , O
d) (2)(3)(-4) e) 5 foss 2
= 6(-4) = 12 =
= _QL\
g) 12+0 %
= U‘/\d\O\E-;npox /

Communication Errors

e +-8need+(-8)

e --3need-(-3)

e no negative signs in
the denominator of the

final answer

Ex. 6
The average temperature in Ottawa in July is 29°C.
The average temperature in Ottawa in January is -17°C.

Write and evaluate an expression to show the@
between the average temperature in July and January.

b‘agge/enu = 3u\\€} ~§O(\\)ar&

- A

\f——%——lw

-2 0o 29
Its 80 obvious!
Divide by Zero...

Curtis Lawrence



